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3D Model of Trends of the Periodic Table LAB

CSCOPE Unit 03 Lesson 02 Day 4

You will create a three-dimensional model of an assigned periodic trend today. You will calculate the proportionate length of coffee stirrer to represent the value of your assigned trend for each element. These cut coffee stirrers will be glued onto the periodic table using a dollop of hot glue. The product will be a “forest” of coffee stirrers showing the group trends (top to bottom) and the period trends (side to side).

Materials:

One abbreviated periodic table for one of four periodic trends printed 

on cardstock per group

One hot glue gun per group

Two glue sticks per group

One sheet of aluminum foil on which to work per group

Small handful of coffee stirrers

One pair of scissors per group

One metric ruler per group

Directions


1. Find the column for your assigned periodic trend.


2. Look down the column to find the largest value that trend has and circle 

               that value.


3. Set the largest value for your trend equal to 11.1 cm. Calculate the length 

    to cut coffee stirrer for each element that would be proportionate to that 

    value.


For example, calculate the length of coffee stirrer to represent the 

atomic size of hydrogen. Here is an edited version of the data table.

	Atomic Number
	Symbol
	Atomic Size

(pm) 
	
	Length of Coffee Stirrer

in cm
	Calculated

Length

in cm

	1
	H
	37
	
	11.1
	

	
	
	
	
	
	

	19
	K
	227
	
	11.1
	


The largest value for atomic size is K with 227 pm. This would be represented by a coffee stirrer with a length of 11.1 cm. The atomic size 

of hydrogen (H) is 37 pm.

	element’s value
	x
	11.1 cm
	=
	calculated length

	largest value
	
	
	
	


For hydrogen (H) the calculations would look like this:

	37 pm
	x
	11.1 cm
	=
	1.8 cm

	227 pm
	
	
	
	



4. For each element, cut a coffee stirrer to the correct length. Use the hot glue

               gun to place a dollop of hot glue on the black dot for that element. Place the

               coffee stirrer straight up and down into the hot glue, and hold it until the glue

               has hardened.


5. The final product should be a “forest” of coffee stirrers with each one’s length

               proportionate to the value of the periodic trend you are representing.

Name: ______________________________

Subject & Period: _____________________

Date Due: ___________________________

Periodic Trends Lab

Assigned Trend: ____________________
	Atomic Number
	Symbol
	Atomic Size

(pm) 
	Ionic

Size

(pm)
	Electro-negativity
	1st Ionization energy (kJ/mol) 
	Length of Coffee Stirrer

in cm
	Calcu-lated

Length

in cm

	1
	H
	37
	omit
	2.1
	1312
	11.1
	

	2
	He
	31
	omit
	0
	2372
	11.1
	

	3
	Li
	152
	90
	1
	529
	11.1
	

	4
	Be
	112
	59
	1.5
	omit
	11.1
	

	5
	B
	85
	41
	1.5
	800
	11.1
	

	6
	C
	77
	31
	2.5
	1086
	11.1
	

	7
	N
	74
	171
	3
	omit
	11.1
	

	8
	O
	73
	126
	3.5
	1313
	11.1
	

	9
	F
	72
	119
	4
	1681
	11.1
	

	10
	Ne
	71
	omit
	0
	2080
	11.1
	

	11
	Na
	186
	116
	0.9
	496
	11.1
	

	12
	Mg
	160
	86
	1.2
	omit
	11.1
	

	13
	Al
	143
	67.5
	1.5
	578
	11.1
	

	14
	Si
	117
	42
	1.8
	786
	11.1
	

	15
	P
	110
	212
	2.1
	omit
	11.1
	

	16
	S
	103
	170
	2.5
	999
	11.1
	

	17
	Cl
	100
	167
	3
	1255
	11.1
	

	18
	Ar
	98
	omit
	0
	1520
	11.1
	

	19
	K
	227
	152
	0.8
	419
	11.1
	

	20
	Ca
	197
	114
	1
	omit
	11.1
	

	31
	Ga
	135
	76
	1.6
	579
	11.1
	

	32
	Ge
	122
	53
	1.8
	760
	11.1
	

	33
	As
	120
	222
	2
	omit
	11.1
	

	34
	Se
	119
	184
	2.4
	941
	11.1
	

	35
	Br
	114
	182
	2.8
	1142
	11.1
	

	36
	Kr
	112
	omit
	0
	1351
	11.1
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